24800

Oberkante 2. 0G

2. Obergeschoss

Unterkante 2. OG

5.5000

Oberkante 1. 0G

Unterkante 1. OG

Oberkante EG

Erdgeschoss

Unterkante EG

Oberkante 2. 0G 9.5000
2. Obergeschoss 3.0000

Unterkante 2. 0G 6.5000

Oberkante 1. 0G

3.0000

Unterkante 1.0G \

Oberkante EG / 25000
Erdgeachoss 3.0000

Unterkane EG =00 piom

Oberkante 1. UG -0.4000
1. Untergeschoss 3.0000

Unterkante 1. UG -3.4000

Oberkante 1. UG

1. Untergeschoss

Unterkante 1. UG

-0.3800

-3.3500

Hier mochte ich eine

direkte Korrektur auf 3.01




